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Write the symbol of the element that best completes the statement or answers the question.

Y\ is the 3rd period alkaline earth metal _ﬁ_/\f;,_ is the alkaline earth metal with 3 energy levels

}ﬁ@; is the 5th period noble gas Pﬁi has 5 valence electrons in the 4™ energy leve]

@f@_ is the most reactive metal in the 5th period s the 2" period atom most likely to lose an electron

%~ _is the most reactive nonmetal in the 2nd period Mo is the 2" period atom least likely to react

A\ ¢ has the smallest radius of the 3rd period _Ca;&t_ is the 3" period element with the highest electroneg-
ativity

<" {2, is the largest atom with 3 valence electrons
= is the halogen with the highest electronegativity

E 7 is the element with the largest atomic radius

@& _is the alkaline earth metal with the highest ionization
energy

_"E_ is the most reactive element with 7 valence ¢lectrons
_‘%@, is the least reactive alkaline earth metal

_@; is the most reactive element in group 6a

¢, has 12 electrons and 12 protons

_ Tota has an electron configuration that ends in 65

VA g has an electron configuration that ends in 4d*

E\\@ is the 3rd period element with lowest ionization enet-
gy
5\ s the third period element which is most likely to
. form an jon with a +3 charge
& the most reactive nonmetal on the periodic table

YA has 1 valence electrons in the 1™ energy level
gy
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